
 
Solve for real numbers: 

(𝟏 + 𝒙)√𝟏 − 𝒙 + (𝟏 − 𝒙)√𝟏 + 𝒙 = 𝟐√𝟏 + 𝒙𝟐 

Proposed by Kostantinos Geronikolas-Greece 

Solution by Mirsadix Muzefferov-Azerbaijan 

(𝟏 + 𝒙)√𝟏 − 𝒙 + (𝟏 − 𝒙)√𝟏 + 𝒙 = 𝟐√𝟏 + 𝒙𝟐 

√𝟏 − 𝒙𝟐(√𝟏 + 𝒙 + √𝟏 − 𝒙) = 𝟐√𝟏 + 𝒙𝟐  , −𝟏 ≤ 𝒙 ≤ 𝟏 

(𝟏 − 𝒙𝟐) (𝟐 + 𝟐√𝟏 − 𝒙𝟐) = 𝟒(𝟏 + 𝒙𝟐) 

𝑳𝒆𝒕  𝒙 = 𝐬𝐢𝐧 (𝒕) 

𝟏.  (𝟏 − 𝒔𝒊𝒏𝟐(𝒕)) (𝟏 + 𝐜𝐨𝐬(𝒕)) = 𝟐 (𝟐 − 𝒄𝒐𝒔𝟐(𝒕)) 

𝒄𝒂𝒔𝒆 𝐜𝐨𝐬(𝒕) ≥ 𝟎 

𝒄𝒐𝒔𝟑(𝒕) + 𝟑𝒄𝒐𝒔𝟐(𝒕) − 𝟒 = 𝟎,               (𝐜𝐨𝐬(𝒕) − 𝟏)(𝐜𝐨𝐬(𝒕) + 𝟐)𝟐 = 𝟎 

𝐜𝐨𝐬(𝒕) = 𝟏  ;  𝐜𝐨𝐬(𝒕) ≠ 𝟐 

𝐜𝐨𝐬(𝒕) = 𝟏 →   𝒙 = 𝟎 

𝟐.  (𝟏 − 𝒔𝒊𝒏𝟐(𝒕)) (𝟏 − 𝐜𝐨𝐬(𝒕)) = 𝟐 (𝟐 − 𝒄𝒐𝒔𝟐(𝒕)) 

𝒄𝒂𝒔𝒆 𝐜𝐨𝐬(𝒕) < 0 

𝒄𝒐𝒔𝟑(𝒕) − 𝟑𝒄𝒐𝒔𝟐(𝒕) + 𝟒 = 𝟎, (𝐜𝐨𝐬(𝒕) + 𝟏)(𝐜𝐨𝐬(𝒕) − 𝟐)𝟐 = 𝟎 

𝐜𝐨𝐬(𝒕) = −𝟏  ;  𝐜𝐨𝐬(𝒕) ≠ 𝟐 

𝐜𝐨𝐬(𝒕) = −𝟏 →   𝒙 = 𝟎 

𝑺𝒐   𝒂𝒏𝒔𝒘𝒆𝒓  {𝟎} 

 

 

 


